# Division with Partial Quotients Name:

Solve each problem. Answers
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Division with Partial Quotients

Name: Answer Key

Solve each problem.

D 9|60

-54
6

9 8l 64

-64

N 4] 611

-400
211

-200

6

8

100

50

2) 21 786
-600

186
-180

5 3|31

-30

8 7] 70

-70

300

90

10

10

3 2| 435
-400

35
-20
15
-14

1

6) 4| 612

-400
212

-200
12

-12

9 3] 31

-30

Answers
1 6ro6
200
2 393
10
3 217r1
! 4 8
5. 10r1
6. 153
7. 152r3
100 8. 10
50 9. 10r1
3
10
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# Division with Partial Quotients Name:

Solve each problem. Answers

10r1 6 ré 217 r1
153 8 393 1.

D 9| 60 2 2| 786 Y 2] 435 >
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